E H
LAY ATV FYI| Az-a—lREE—E
KR I~ TRAMERS & 75 ) £,

(BEEA=a1—)
RMERT 91 30~11:30

mE—=-/Jtvt 850 4 =1,000 M

(SvFEa2yv7x)
IRMERFRT 11 0 30~14 : 00 (L.O 13 : 45)

B XA 2,000 H=2,200 M

m =7 1,800 [ =2,000

(Fa4F—9F v FA=a—)
RAREE 17 1 00~21: 00 (L.O20:00) A8 - XBIZ{KR1E

HE
W A= BRYEhe 800 =900 M

B EALEDAHHE

- BB~ Y — X~ 900 H=1,000 M

- HKB~FEREBEFY — X~ 900 H=1,000 M
B AERBED2a—F v VORD 1,200 9 =1,300
B BERDERFOEK 1,200 9 =1,300 1
B FHVRNER) E—< D 1,200 F=1,300
B AEHANITREEZZIE 1,100 H=1,300
B AEHANITODZIE 1,100 M =1,300 M
[

AEBDHANITIER 1,100 M =1,300 [

120254 A 1H



BEDEBHANITHEZZIE
BEDIRDHADT TER
BOEORDANITHEEZIE
184 3@

BRFER 540

T BMER

H ) DOER

RFEEBZE 2K
—ZAGE N

B SEEEht —&

— 4B

1,400 F=1,500
1,400 F=1,500

1,700 F=1,800

1,000 H=1,100
1,000 9 =1,100 M
1,000 9 =1,100 M
1,000 9 =1,100 M

500 M =600 M
250 F=300 M

500 M =600 M
250 F=300 M

B HhS)AYIPETEDX— 550 H=600M

B FPERy b (THR/ A —T/E

ity

pUE=grili==
BERMEIZERO E LAY #E
RS EHEE

o pE

£55LET
BENEBOLLER (NEARZY)

P—F> - W BF UNEARY)

RFREYEHE
= 2230

350 =400 M

2,500 F=2,600 M
1,780 F=1,900 M
2,200 =2,300 M
2,300 =2,400 M
2,200 H=2,300 M
990 F=1,100 M

990 F=1,100 M

1,430 F=1,500



B ARty b (THR/HEH/EY)

- URERR Y
- hiER Y

REBEFHLE (ZT~=Z2EY)
RIS YAbhE
RELEY bt (T~=4881)

F—XBY) Eht
- T~
- —ZERY)

BT HEE
BB Sbt
itiEEERS
754 RHEF b
BIEBROERES S

REORBIZEL

-4
Z R

YL

avbExrR—TaryYo4k
BFIITHYITH
BEXYY—FELORYVYILR

BEOEY YT

1,650 F=1,800
1,980 F=2,100

2,600 M =3,000
1,700 FH=1,800 1

2,400 =2,800 M

1,200 M =1,800 [
660 F9=1,000 M

900 F=1,000 M
440 =650 M
500 =600 [
550 F3 =650 M
900 F=1,000 M
440 M =550 [
350 =400 M

250 =300 M

580 =700 M
680 =300 M
950 9 =1,000 M

1,700 F=1,800



(FUYoA=a2-)

F7IILa—)u

HLEr—IIL&E
SN 600 H=750 [
- 700 H=850 HH

B 7HeXR—/»—FK54
IJXMZ7a3—J)LFK
B R —IL&E
B/ 7/)a—)LE—)
B OB
-TRE FO 1E
B o714y (GR/B)
- TR
- R b
BV XF—
c R—=/N—Z v HhH
| s
s bZAT TN
77 R
kL
- AIRFRE Aol FE
- RIEE R M oZE
B H7TL T —KFE

W B

VA2 N7

B O—t—

650 =300 M
750 =900 M

600 =700 M

600 =700 M

700 =300 M
2,800 M =3,000

700 =800 M

600 =700 M
2,500 FH=2,800 M
600 =700 M
600 =700 M

700 =300 M

700 =300 M

550 =700 M



B 74X Ahrya—k— 550 =700 A
B M X3—t— 600 =750 H
B FF—a—kt— 600 =750 H
B TX7Lyya—kb— 600 =750 A
B Ah7zHL GRy M/T7A4XR) 600=750
[ RS 550 =700 M
B 1M RT4— 600 =750 H
B o7 Ky M/TA4R) 600 =700 M
B U—ovE 550 =600
HmAL>yya—2X 550 =600
mJL—77)L—yYa—X 550M=600MH
m -7 550 =600 M
mry—IT—L 550 =600 M
B rYhPa—2XR 550 =600
B LERXAya 600 [ =700 A
FH—k

B 7A 20— L&E 550 M =600

WA X7)—LFYVYTEY b 850 9 =1,000 M

B 7 & 750 F3=900 M

B 7zrFUYIEy b 1,050 F=1,300



